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Plot [['EcFgro’', 'EcFzExp', 'EcPltng’, 'ECdef’, 'water_ec’]]
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Plot [’ ECopt’]
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Plot Sensor and FgRec Data
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Plot [['setVlI ETcl’, 'setVI fgRec', 'setVI VN, 'sl|SetVI' ]]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Plot [['FVOPH:r-o’, 'PHO:g—o’]]
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Trend plot forP6AW W
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P6AW

BATIRERA (0.94) , iHiaE
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21t 2943.0 (90%) 1440.0 323HKEC: 2440.0, PH: 6.5
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PE6AW

BfiE) | GEBIATK (7)) | ERE (EA/HK) | XK ERF

11:05 327 160.0 [/\Ff| 1BRig@11:05 Bah (kBEREE)
12:05 327 160.0 [/IF| {Ri%@12:05 Bl (REHERSE)
2it| 654.0 (2%) 320.0 323 KEC: 2440.0, PH: 6.5

WRFHRERA (0.95) , HEE

HEREHERE S FEEARTT (306.0 : 160.0), AJEE/KREERE
ZRIASLPRERE160. 0 ml.

large discrepency for begining water status (370:195.0), set to 370 ml.
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160.0), FIREKRREERE

large discrepency for begining water status (39:210.0), set to 39 ml.
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